IECSRGBu6-Dreieckshelligkeit T*
T* Y=L w nc=100,
T*IEcsraBus=50 (YY) Y2 4(Y,=18, Y,/ 100<Y<=Y,0)
T*\(3,6)=26,T*,(18)=50,T*y,(90)=98

T*90_97 7724, 14=1/2,4=0.41
&=50,00 50,00 D,;=-0,00
T*3 ¥ 25,51.T%,250,00 {=18

T*,=50,0Q %:47,94
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Normfarbwertdifferenz

Yoc=L*w - nc=100,
T*IEcsroBus=50 (YY) Y2 4(Y,=18, Y, /100<Y<=Y,0)
log(dY) = (1/2,4) log[2,4Y,/50)] + [1-(1/2,4)] logY)
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dYeg=12,27,y=2 .
dY¢=4,8Q $=50,00 D,=-0,00
dYs 1,87, Y,=18, dY=4,80 bereich
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log AY/Y)
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IECSRGBU6

. Normfarbwertemfindlichkeit
SOV Yoc=L*w - nc=100,

T* IEcsroBus=50 (YY) M2 4(Y,=18, Y, /100<Y<=Y,0)
log(@Y/Y)= log[2,4(/,/50)] - (1/2,4) log¢/Y,)
= (1/2,4) log[2,4Y,/50)] - (1/2,4) logl)
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10g(dY/Y)E=0,57, my=-6,"+ =~
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(dY/Yy5=0,1363y=2,4, 1=1/2,4=0,41
(dY/Y)g=0,2666 $=50,0Q D=-0,00
(dY/Y},6=0,5202 =18, dY=4,80
'v,=18

log (Y/AY)

YN=3.6 1 Yy=90
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Normfarbwertkontrast
Y=L w nc=100,
T*IEcsraBus=50 (YY) Y2 4(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= - log[2,4{/,/50)] + (1/2,4) log{/Y,)

= - (1/2,4) log[2,4Y,/50)] + (1/2,4) logy{)

C,=(Y/AY)

* =50, dY,=4,80 Y,/dY,=3
10g(Y/dY)=0,57, m,=0.42
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(Y/dYye=7,33,y=2,4, 1=1/2,4=9,41
(Y/dY)g=3,74 §,=50,09 D,=—0,90
(Y/dY} 6=1,92 Y,=18, dY=4,80 4 bereich
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IECSRGBUG relative DreieckshelligkeitT*/T*

THT* YocmL*w - nc=100,

T* EcsraBus=50 (Y/Y,) M24(Y,=18, Y, /100<Y<=Y,o)
T¢\(3,6)=26,T* ,(18)=50,T* (90)=98

T* c/T* =1,95 y—2 4, 14=1/2,4=0,+1 :
OQ 0 OO D= 0 )

THT* J=1, m=-0,20

log(AY/AY,)

log [AYY) I (AYIY),]

log [(Y/AY) I (YAY),]

L*,=49, T*, =50 Yn=3.6 Yw=90
IECSRGBuU6 relative
Normfarbwertdifferenz

Yoc=L*w - -nc=100,

T* EcsraBus=50 (Y/Y) M2 4(Y,=18, Y, /100<Y<=Y, o)
log(dY/dY,) = [1-(1/2,4)] loglf/Y,)

AY/AY,

QYoo dy=2.85.y=24, 14=1/24=0.41
dY;¢dY,=1,00 $=50, )
dY; gd¥,=0,39 Y,=18, mg 24,80

* =50, dY,=4,8Q dY,/Y,=0,2666 _ -
log[(dY)(dY),J=0, m,=0,58
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1Y,=18

YN=3.6  Yw=90

IECSRGBU6 relative
Normfarbwertempfindlichkeit

SSu=@YMIBYN)y v =+ - =100,
T* EcsraBus=50 (Y/Y,) M24(Y,=18, Y, /100Y<=Y, o)
log(dYM)IAYM),] = - (1/2,4) loglIY,)

(Y ag(dY=05Ly=
(dY/Y)/(dY/Y)= qs,:
(AY/Y) (V=195 Y=

=2,4, 14=1/2,4=0,41
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CICU=(YIAVYI(YIAY), NomLr e ST00,
T* EcsraBus=50 (Y/Y,) M24(Y,=18, Y, /100<Y<=Y,o)
logI(Y/dY)/(Y/dY),] = (1/2,4) loglY/Y,)

(Y/dYpo/(Y/dY)=1,95,y=2,4, 1}=1/2,4=0,41
(Y/dY)g/(Y/dY)=1,00 §=50,0Q D,=—0,00
(YIdY} d/(Y/dY)=0,51 Y,=18, dY=4,80
log[(Y/dYY(Y/dY)J=0, m=0,41 _
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